Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - VI+ EXAMINATION - SUMMER 2016

Subject Code: 3362902 Date: 11/05/2016
Subject Name: Modern Weaving Technology
Time: 10:30 AM to 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. £2Hil 518U Ulcloll scllol L.
State types of projectile and its dimension.

YlegseleS el Usl? el ol HIW %LUl

State speed and weight of projectile.

UlBselef Aol BSU WA cosat LUl

Name the three weave which are woven on tri-axial weaving loom.
gla-vleflad llol g uR anudl st dlet oli ottid 2L,
State noise level in Air-jet loom and power loom.

AU-B2 ol UAR GHHL dlule of YL Ul

State weft insertion rate (WIR) of multiphase and Air-jet loom.
HELE0 Ul AR-B2 ¢Holl Age BolAR2Uet 2(WIR) QU
State the type of rapier.

UL2AR ol YslR wuudl.

Write formula to calculate weft insertion rate (WIR)

Age SeldR2Uel 22 ARl Hida] sLR]cl cwl,

Write any two disadvantages of water-jet loom.

dl2R-%2 GHoll S8 UQL A AR SLAEIR AW,

In which system weft is transfer in Tip form?

56 YleHHl Ase dlu SLIHL 2leugR wA B?

Write any four advantages of shuttle less loom

ASA-AU CGHotl 518 UQL UR SRAEIR AW,
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Q.2 Explain main features of projectile weaving machine.
w2 () UwselSa dldlor Hallotoll yuat willadl esual.

OR
(a) Explain sequence of weft insertion in projectile weaving machine.

@) UgselSd ldlot Halletii Age Ysaloll sH 9 gl €131
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(b)  Explain torsion bar picking mechanism with neat sketch.
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() 2Rt ol Ulslol {l3ellos 21269 gl €131 umestall. 09

OR
(b)  State essential requirements of successful Air-jet weft insertion. 07
(W)  AR-Be GHHl Ul Yds Ase ysal MR %33| wldgaAsARA 09
Rl
Q.3 (@) Explain Quality of Air in Air-jet loom. 07
Y3 () AWR-%2 ¢H Hi AR ofl ojutadll <l AHeAl. 09
OR
(@) Explain construction and working of confessor. 07
) SRR o S5t U aslol AUl 09
(b)  Explain beat-up mechanism of sulzer loom with neat sketch. 07
() Yeosr ol ofle-uu {Zollosr 229 sl €131 wmesal. 09
R
(b)  Explain selvedge formation in sulzer ﬁ)om with neat sketch. 07
() Yot gH Hi Sloti3l 585 A el B A ey wgld WA UMl 09
Q.4 (a)  State difference between Air-jet and water-jet loom. 07
YA ¥ () AR-%2 A dle-B2 @H AR ol dslad el 09
OR
(@) Explain picking system of water-jet loom with neat sketch. 07
) dleR-%2 gHell Ylslot flren 2w wugld €131 umesal 09
(b)  Explain sequence of weft insertion in water-jet loom. 07
(W)  dleR-Be ¢M Ul Ase Ysaloll sH e wg(A €131 Al 09
OR
(b)  Explain principle of tri-axial weaving with neat sketch. 07
() era-Aellad dlcdlot ol Rt ety sl €131 uxesal 09
Q.5 (a)  State advantages and disadvantages of multiphase weaving machine. 04
s u (W) HE@lEe dldlor Hallotoll SLAEL v AR SLAERAL LU 0¥
(b)  Explain QSC (Quick Style Change) and its features. 04
() s<lls RTA Ao (QSC) Wal Aol FlAA [l UM 0¥
(c)  State modifications in weft insertion system in Air-jet loom. 06
(5) A-%e ¢u Ui Ase Ysaloll AlreHul At YuRl-auRl A 0§’
yHestal.
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